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LOKAL

11

3 PIETRO

Pietro: 3 + Strych
lloSC pokoi: 8

LOKAL 14
92,00 m?

POWIERZCHNIA

1. korytarz

2. pokdj

3. tazienka

4. pokdj

5. pokdj

6. pokdj

7. tazienka

8. garderoba

STRYCH

93.72 m?

4,53 m?
31.97 m?
593 m?
9.81m?2
16.29 m?
17.49 m?
4,18 m?
3.52 m?

—(Soooooo]
I \k

[]

N

\ Jr_‘:l:u:ll:u:l:ll:l
AN

N

K

POWIERZCHNIA

vzytkowa po podiodze m?

21.59

53.52

LOKAL 11

93.72 m?
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LOKAL 13 LOKAL 12
81.47 m? 82.12 m?

RZUT 3 PIETRA
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LOKAL 14 a ] LOKAL 11

21,90m> | [0 ] 21,59 m* ol
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LOKAL 13 E LOKAL 12

58.48 m? 55.31 m?

RZUT STRYCHU



